RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Tohono O'odham Child Care Services/CCDF Fiscal Year 2001 Budget Amendment, Resolution No. 2000-518, October 1, 2000 - September 30, 2001)

RESOLUTION NO. <u>01-380</u>

1	WHEREAS,	the Tohono O'odham Nation is presently operating the Division of Early Childhood
2		Development/Child Care Services for its young members and providing for their
3		welfare through various programs and services designed to meet their special needs;
4		and
5	WHEREAS,	the Department of Health and Human Services, Administration for Children and
6		Families has awarded the Tohono O'odham Nation Child Care & Development funds
7		to implement a Child Care Services Program; and
8	WHEREAS,	the Tohono O'odham Legislative Council is desirous to continue to provide Child Care
9		Services to its young tribal members; and
10	WHEREAS,	the Child Care Services has prepared a budget amending FY 2001 Child Care &
11		Development Fund from \$574,808.00 to \$960,102.00, which reflects an increase of
12		\$385,294.00, and creating new line items amending the following accounts:
13		Grant Year 2001 - Discretionary Funds for administrative cost in the amount of
14		\$60,866.00 to \$62,191.00,
15		Grant Year 2001 - Discretionary Funds for program cost in the amount of \$104,279.00
16		to \$303,103.00,
17		Grant Year 2001 - Mandatory Funds for administration cost in the amount of
18		\$87,358.00 to \$89,221.00,
19		<u>Grant Year 2001</u> - Mandatory Funds for program cost in the amount of \$322,305.00 to
20		\$505,587.00.
21	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council does hereby
22		approve the amendment totaling \$960,102.00 to be expended accordingly.
23	BE IT FURT	HER RESOLVED that the duration of this budget will be from October 01, 2000 to
24		September 30, 2001.
25	BE IT FINAL	LY RESOLVED by the Tohono O'odham Legislative Council that the Tohono O'odham
26		Nation's Officials, to wit: the Chairman, and any designated officials are hereby
27		authorized to negotiate and execute the grant, provided however, that any
28		amendments affecting the funding levels of the grant shall be submitted for prior
29		approval by this Council.

	RESOLUTION NO. <u>01-380</u>								
	(Tohono O'odham Child Care Services/CCDF Fiscal Year 2001 Budget Amendment, Resolution No								
	518, October 1, 2000 - September 30, 2001)								
	Page 3 of 3								
,	Returned to the Legislative Secretary on the <u>lob</u> day of								
1	July , 20 0 /, at 10:14 o'clock, A.M. July fully full formula for the first secretary								
2	Onil.								
3									
4									
5	\mathcal{N}_{1} \mathcal{N}_{2}								
6	fluid M. on fr								
7	Inliance Coroffice Action I acid the Coro								
Ŧ	Julianna Saraficio, Acting Legislative Secretary								
8									
9									
10									
11									
12									
13									
14									
15									
16									
17									
18									
19									
20									
21									
22									
23									
24									
25									
1									
26									
27									
28									
29									
30									
31									
32									
33									
34									
35									
36									
37									
38									
39									
40									
41									
42									
43									
44									
- 1	l e e e e e e e e e e e e e e e e e e e								

	RESOLUTION NO. <u>01-380</u> (Tohono O'odham Child Care Services/CCDF Fiscal Year 2001 Budget Amen 518, October 1, 2000 - September 30, 2001) Page 2 of 3	dment, Resolution No. 2000-
1 2 3 4 5 6 7	of <u>JULY</u> , <u>2001</u> at a meeting at which a quorum was present with a vote of <u>-0-NOT VOTING</u> ; and <u>[01]</u> ABSENT, pursuant to the powers vested in the Article VI of the Constitution of the Tohono O'Odham Nation, adopte Nation on January 18, 1986; and approved by the Acting Deputy Assistant (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 7	of <u>2,417.5</u> FOR; <u>-0-</u> AGAINST; e Council by Section 1 (<u>f)</u> of d by the Tohono O'Odham at Secretary - Indian Affairs ne 18, 1934 (48 Stat. 984).
8	~/! ~ ~	IVE COUNCIL
10		7
11		hairwoman
12 13	12 1 12 1 12 1 12 1 1 1 1 1 1 1 1 1 1 1	
14	14	
15		
16		
17 18		
19		
20	20	
21	21 10 day of 10, 20 01.	
22	1	0.1 - 1 0.0 11
23	Said Resolution was submitted for approval to the office of the Chairm	an of the Tohono O'Odham
24 25		and will become effective
26	<u> </u>	
27		
28	28	
29	29 TOHONO O'ODHAM LEGISLATIV	E COUNCIL
30		
31		airwoman
32 33		MAR VI VALLULA
34		
35		
36	36 H	
37	37 La sampayor	,20 <i></i> (
38 39	38 APPROVED on the 10 day of 100	
39 40	$\mathcal{U}^{*}\mathcal{U}$	
41	41	0
42	42 90 (1)	/
43		
44	THE THE PARTY OF T	
45	44 EDWARD D. MANUEL, Chairman 45 TOHONO O'ODHAM NATION	

ACTION: TOHONO O'ODHAM CHILD CARE SERVICES/CCDF FISCAL YEAR 2001 BUDGET AMENDMENT,

RESOLUTION NO. 2000-518, OCTOBER 1, 2000 - SEPTEMBER 30, 2001

MOVED: COUNCILWOMAN FERN SALCIDO

SECOND: COUNCILMAN DAVID GARCIA

DATE: JULY 10, 2001

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK 248.1	1. KENNETH WILLIAMS (Juanita Homer)	124.05	X			
	2. DAVID GARCIA (Mary Audrey Juan)	124.05	х			
HICKIWAN 167.3	1. SHIRLEY MOLINA	83.65	х			
10.10	2. SANDRA ORTEGA	83.65	X			
GU VO 188.3	1. FERN SALCIDO	94.15	X			
100.5	2. EMILIO LEWIS (Michael Flores)	94.15	X			
SAN LUCY	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35	x			
160.7	2. GLORIA RAMIREZ	80.35	x			
PISINEMO 174.7	1. BARBARA SALVICIO (Alex Antone)	87.35	х			
1/4./	2. PATRICIA CRUZ (Johnson Jose)	87.35	x			
GU ACHI	1. CAMILLUS LOPEZ	115.35	X			
230.7	2. ALEX J. RAMON (Jerome Joaquin)	115.35	x			
BABOQUIVARI	1. FRANCES MIGUEL	158.85	х			
317.7	2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	х			
SAN XAVIER	1. TONY BURRELL	92.35	X			
184.7	2. DENNIS RAMON	92.35	x			
SCHUK TOAK	1. MARY FLORES	72.25	X	į		х
144.5	2. AMBROSE ENCINAS (Frances B. Conde(Francisco))	72.25	x			
SELLS	1. DENNIS E. JOSE	208.05	X			
416.1	2. EVELYN JUAN	208.05	X	-		
SIF OIDAK	1. ISIDRO LOPEZ	92.35	x			
184.7	2. RITA A. MARTINEZ (Nicholas Jose)	92.35	X			
T	2,417.5	2,417.5	-0-	-0-	[01]	